01dec09 to 31dec09 all freq 124 pnts. Gain K/Jy

N
o

12— —
+B0518+165 [ N P - FIG 1 ]
XB1218+339_ | % % % f % % -

RV £ PR OREE R RS Ry
= [ + % ]
5 s -
6 _
0 5 10 15
zd
Tsys
50 — ‘ -
4557 1175, 1300, 135/5. 1415. 1550. 1610. Mhz ]
C + 7
40— ™ + 4
= F T -
= F +s 4+ H H e F . . ++ 3
O —+ -
E - +H 4 e ++ ++ +4 ++ - ++ o = +t %ét j@% 7

RS I - S ¥ %

25— —

200 . L o o .

0 5 10 15 2

zd

Sefd

5.0F T -
- + 7
450 N + 3
— E + =
> 40 4+ + —
£ c T + T ++* -
5. E HooF o 3
=70 Lo TR
Ly S0 + H 4 T 4= 4+ +4- ++ +=+ ++ ++ Tt ++ ++ % T
2 T 4+ o o e *ft +t +T -
253: TH 4 4 4 + =
2.06 . L o o .
0 5 10 15 2

zd

AvgBmWidth

260 [ ‘ ‘ ‘ =
, +R O W 4 H R g T .
_ 240 -
8 — Jr ++ _|
0 L T e e L e s ]
— 220|— L
- n + o+
£ , e I L s T T s T = T S o S 4+
= = +’$+, +H 4+ ++ 4t 4+ +- - -+t ++ 4;+ ++ +T *f x ]
E 200 + -
e T % %
= 1sof X £ —
160 ‘ ‘ ‘ | ‘ ‘ ‘ ‘ ! ‘ ‘ ‘ ‘ ! ]

o
o))

10 15
za

N
o



+B0518+165

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

01dec09 to 31dec09 1175 Mhz

29 pnts. Gain K/Jy

12

Jr
+

+ o+ T

+

T+

FIG 2

T+

o

zda

Tsys

N
o

W
an
HH‘\\H‘HH‘HH‘HH‘HH

+

FOH T

++

o

zda

Sefd

N

0

5.0

4.5

4.0

3.5

3.0

2.5

2.0

T T A A e S

+H

++

o

5 10
za

AvgBmWidth

N

0

260

240

o+ R

++

+H

++ T

o

zda

N
o



+B0518+165

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

01dec09 to 31dec09 1300 Mhz

29 pnts. Gain K/Jy

3 FIG 3 |
- s L *
7 ) B
i . .
B AN
0 10 15 20

za

Tsys
C ++ E
= ++ =
- ++ ]
c ST T T :
0 10 15 20

za

Sefd
3 ++ 3
- ++ 3
= n ++ a
T T T E
0 10 15 20

za

AvgBmWidth

- T ++ 4
T S S L o E E
0 10 15 20

zda



+B0518+165

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

01dec09 to 31dec09 1375 Mhz

29 pnts. Gain K/Jy

L FIG 4 ]
L T e T T T T E— N E
N T :
Jr

B o ]
0 10 15 20

zd

Tsys

= -
c ++ ++ + m
= tH o o o =
0 10 15 20

zd

Sefd

- ++ 3
= + =
3 o T =
- T T i s -
0 10 15 20

zd

AvgBmWidth

- ++
B B e T N s S ]
0 10 15 20

zda



01dec09 to 31dec09 1415 Mhz 31 pnts. Gain K/Jy

12

+B0518+165

XB1218+339 e e o o S S S

Gain [K/Jy]

10 15
za

o
o))

Tsys

N
o

%Hr%

++H H HF o o A

Tsys [K]
W
I
HH‘HH‘HH‘HH‘\H\‘HH

10 15
za

o
o))

Sefd

N

5.0
4.5
4.0

3.5 +¥

=+ K

SEFD [Jy/Tsys]

3.0 ++
tH o 4 o 4 o T

2.5

2.0 L L L L 1 L L L L 1 L n n n 1

o
o))

10 15
za

AvgBmWidth

N

260

240

Jr
#+++++F+++++#4+++++++++++%*

AvgBmWidth [aSec]

10 15
za

o
o))

N
o



+B1218+339

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

01dec09 to 31dec09 1550 Mhz

2 pnts. Gain K/Jy

B FIG 6 ]
C + T
0 5 10 15 20
zda
Tsys
= +
- + .
0 5 10 15 20
zda
Sefd
- + 7
- + g
0 5 10 15 20
zda
AvgBmWidth
- +
0 5 10 15 20

zda



+B1218+339

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

01dec09 to 31dec09 1610 Mhz

2 pnts. Gain K/Jy

B FIG 7 ]
L + +i
0 5 10 15 20
zda
Tsys
- + 7
- o
0 5 10 15 20
zda
Sefd
= + 3
— T
0 5 10 15 20
zda
AvgBmWidth
— + +
0 5 10 15 20

zda



+B1218+339

Gain [K/Jy]

SEFD [Jy/Tsys]

AvgBmWidth [aSec]

12

5.0

4.5

4.0

3.5

3.0

2.5

2.0

260

240

01dec09 to 31dec09 1666 Mhz

2 pnts. Gain K/Jy

B FIG 8 ]
L T+ ]
0 5 10 15 20
zda
Tsys
3 e
0 5 10 15 20
zda
Sefd
- + 7
= -
0 5 10 15 20
zda
AvgBmWidth
L + +
0 5 10 15 20

zda



